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1. Find the Laplace transform of the following function. (10%)

f (t) =t°u(t-1).

2. Find the inverse Laplace transform of the following function. (10%)

s?-1
F(s) = —.

3. Using the Laplace transform to solve the initial value problem. (10%)

y'+ty'-y=0 y(0)=0,y'(0)=1.
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4. Given A® :[ }

42 41|
(a) Find matrix A="? (10%)

(b) Find A®* =? (10%)
5. Find the general solution of the following differential equation. (15%)
y'+4y'+4y =e X cos x
6. Find the particular solution of the following differential equation. (15%)
y+xy=xy* y(0)=3
7. Find a normal vector of the curve at the given point P. (10%)
16x% —y2 =399, P:(51)

8. Calculation of the divergence and its value at P. (10%)

\7:[0 sinx?yz, cos xy zJ P:(1 1,




